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You have four choices for vach objective 1ype question as A, B, C and D. The choite which you think is correct, fill the

Q.No.1 relevant circle in front of that question pumber on computerized answer sheet, Use marker or pen 1o fill the circles.

Nol eypting or filling two or more cireles will result in zero marks in that question. Atiempt as many questions as given in
abjective type guestion paper and leave other circles blank.
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Time: 02:40 Hours Marks: 68
SECTION - |

Loy e shorl wnswers o any EIGHT parts. 16
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{ip  Define potential wradient and show that E= --5—,1-‘-

ily Write two difterences between electrical and gmviwticnal forees.

(i) How can you identity that which plute ol'a capacitor is pusitively charged?

(iv)  Suppose that you follow an clectriy fiekd fine due 1o positive point charse. D cleetric licld and the potential
increase or degrease?

(v) What do you know abaul sensitivity of pahvangmeter?

{vi)  Whatare the uses of CROZ

ivii] How can you used ipgnetic Tl 10 separte isutupes of chemical clement?

Cvidil Whiy the resistaee ot o annmeter shoubl e vers low?

und What are il astors ugram s hiel e aitual indtanes depends?

(x)  Whatis the buck maswr et in generators?

(x1)  Pour unmarked wires cnerge Frotn a ransfonuer. What steps would you ke Lo determing the turis ratio?

T Sup .

(xii) Show that & wnd Y e the same writs.

Write short apswers 1o any EIGHT parts. i6

(i) State the K irchlofT s first and second rule, .

(i ls the Damem pesistanee loweer or highwer in g SOUW, 220V light hulls than i a TOOW, 220% bulb?

(i) What is meant by e tuletanee i resistor? Write e vaiue of tolerance of silver and gold.

Gk Whatis s choke!

vy What s et by AN wd M

vid A circuil contains an iron cuped induchor, 4 swilch unu
after an interval reppencd. Explain why a spark jur itch contacts?

{vii) Deline dinniagnetic and ferromagnetic substa e ‘-‘T amples.

(viil) Disunguish between erystalline and amaorp’ .. gy
(ix) What is the wechanism af electrical ¢ .aes and electrons in a pure s icaMuctor element”

{x) Why ordinary silicen diodes dono. AN

. yrranged in series. “The sv@ich Wglo¥ed and

(xiy  Why charge carriers age nol preds. ) _.,;léliim regions” ®
(aii) What is solar cell” Ciivee ibs usen T

4 Write short apswers 1030 SN parts. i2
Gy Whon mbvanitages wn ehecliale prerescape s et i virlics
il W docy hight Pl e s i an Wikt dus it @ha
(il Caleulaie the vilue of Cunmpton wave fepath ol el
(iv) Explain why laser action could not oceur wit ion inversion between atomic levels?
(v Huow Ka and B Me-rays are winitted™
{vi) lhaw cun radioaetivity help in the U !
(vir) Whal do you understand by bac 137 Slate fwoe SoUrces.
{viii) Differentinte butweed Hadrons al
{ixh Write any bwa wses ol radio
" QBT R = : e |
| E-,["{"l ION % lempt iy THREE ¢ questions. Each quustion curncs 08 marks. |
) Wit is capacii clation for the capacitanse of paraliel plae capacitor. Shaw {hst
capacitaice vi cesenee ol dieleetric belween the plates of capacilor, . 03
by The resis *an Won wire a1 0°C is 1 10%C2. What is the resistance at S00°C if the temperature
i Rauce ol ironis 5.2x107K 2 03
6. (@) 1 wenomend of mutual induetion, mmutual inductance and define its units. 05
(byAlpl particles ranging in speed from 1000ms™" 10 2000ms~* enter into a velocity selector where the
electric intensity is 300vm~" and the magnetic induction 0.20T. Which particle will move undeviated
twough the eld? 03
9 ) Wit is transistor? Hos il is used as an amplitier? Derive its vollage gain cyuation. 0s
Ll pAL whisl brequaney Wil i Dnelueton of LOLE have 8 reactingee of JouLl 03
%, () Deseribe du-lroglic's hypuothesis and explain Davisson and Germer experiment 10 conlirm this
hypathesis. 02,03
(h)What stress wauld cause wire 1o increase in length by 0.01% if the Young's modulus of the wire
is 122107 Ps . Whal loree would produce this stress if the diameter of the wire is (1.56 mm? 03
9. fa) thn is Fadll}ucll'tc'lly'? Discuss emission of aipha (u), beta ({}) and gamma (v} radiations from
radicactive nuclel. 05
(b)Compute the shortest wavelength endiation in the Balmer series. Wihat value of “n™ must be used? 03
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